
lzif{s g+= ? xhf/df

70400000

131500000

58500000

6982000

2513000

2500000

11000000

1500000

284895000

131500000

153395000

e'QmfgLsf] ;|f]t  

2111 tna 10500000

21121 kf]iffs eQf 300000

d+x+uL eQf 950000

:yfgLo eQf 1100000

cGo eQf 700000

sd{rf/L a}&s eQf 800000

sd{rf/L sNof)f sf]if 300000

sd{rf/L pTk|]/)ff tyf k|f]T;fxg 100000

kfgL ljh'nL 300000

kbflwsf/L a}&s eQf tyf cGo 

;]jf ;'ljwf 7000000

kbflwsf/L kf]iffs eQf 340000

;+rf/ vr{ 700000

OGwg kbflwsf/L 300000

OGwg sfof{no k|of]hg 2500000

;jf/L ;fwg dd{t 2000000

sfof{no ;`rfng vr{ 4000000

kq klqsf %kfO{ tyf ;"rgf 

k|sfzg 1000000

s/f/ tyf cGo ;]jf z'Ns 7500000

ufp;ef tyf sfo{qmd ;`rfng 

vr{ 1600000

cg'udg d'Nof+sg vr{ 2000000

;?jf e|d)f vr{ 350000

#/ ef*f 750000

cGo ef*f 1000000

ljdf cGo 500000

ljljw vr{ 1550000

tflnd tyf Ifdtf ljsf; 1000000

cjnf]sg tyf e|d)f kbflwsf/L 700000

cjnf]sg tyf e|d)f sd{rf/L 800000

sfof{no ;fdfu|L Joj:yfkg 1500000

cg'udg tyf e|d)f vr{ 700000

dlxnf :jd\ ;]ljsf k|f]T;fxg eQf 468000

hDdf 53308000

;;t{ ah]^ 131500000

s'n rfn'' 184808000

ljlgof]lht ah]^ k'lhut 100087000

k'hLut vr{ 

d]l;g/L cf}hf/ 2000000

;jf/L ;fwg 1000000

;km\^j]o/ vl/b, g]^jls{~ tyf 

sDKo'^/ tflnd -;"rgf k|ljlwL_ 1482000

kmlg{r/ tyf lkmSr;{ 2500000

hDdf 6982000

ljj/)f 

;fNkfl;ln%f] ufpkflnsf 

ufp sfo{kflnsfsf] sfof{no 

cf=a= 2076.077 sf] ah]^ tyf sfo{qmd 

ljj/)f 

s'n ah]^ 

k|b]z ;/sf/ ;dfgLs/)f 

;+#Lo ;/sf/ ;dfgLs/0f 

ljlQo ;fdfGoLs/)f 

;;{t cg'bfg 

/fhZj 

k|b]z ;/sf/ ;dfgLs/)f

k|b]z /fhZj

rfn' vr{

cfGtl/s cfo 

s'n ah]^ 

;;{t cg'bfg 

ufpkflnsf af^ ljlgof]hg ug]{ ah]^

cg'dflgt cNof

sG^]Gh]G;L

;+#Lo /fhZj af*kmF*



cfly{s ljsf; 

s[lif k|b]z 1100000 k|b]z /fhZj af*kmf*

kz' ;]jf 800000 ;+#Lo ljlQo ;dfgLs/)f 

hDdf 1900000

;fdflhs ljsf; 

1 lzIff 2792000 ;+#Lo /fhZj af*kmF*

2 :jf:Yo 4800000 ;+#Lo ljlQo ;dfgLs/)f 

3 vfg]kfgL 2400000 ;+#Lo /fhZj af*kmF* 100087000

4 v]ns'b 5100000 ;+#Lo ljlQo ;dfgLs/)f 

5 dlxnf afnaflnd tyf h]i& gfu/Ls 1313000 k|b]z /fhZj af*kmf*

6

s'n'~ ax'd'vL SofDk; ;`rfng 

cg'bfg 1300000 ;+#Lo ljlQo ;dfgLs/)f 

7

of]udfof :d[lt k|lti&fg ;`rfng 

cg'bfg 300000 ;+#Lo ljlQo ;dfgLs/)f 

8

Goflos ;ldlt tyf ;fd'bflos 

d]nldnfk s]Gb| Joj:yfkg vr{ 700000 ;+#Lo ljlQo ;dfgLs/)f 

9 ufp j[t lrq 600000 ;+#Lo ljlQo ;dfgLs/)f 

10 xs{^] ;fNkf ;++/If)f tyf k|j${g 700000 ;+#Lo ljlQo ;dfgLs/)f 

11

;fNkf kf]v/L ef}lts ;+/rgf lgdf{)f 

-ejg / ^\of~\sL_ j* g+= 5 2500000 cfGt/Ls cfo 

12

u'Djf lgdf{)f              -

;f~%f]ln~, nflnu'/f;, ^fl;%f]ln~ 

j*f g+= 4_ k]df%f]ln~, j*f g+= 3, 

a'$ zflGt j*f g+= 2 nfO{ 1 

nfvsf] b/n] 500000 ;+#Lo ljlQo ;dfgLs/)f 

hDdf 23005000

ef}lts k"jf{wf/ tkm{ 

1 j*fut of]hgf k|To]s j*fnfO{ 18000000 ;+#Lo ljlQo ;dfgLs/)f 

2 ;*s 31400000 ;+#Lo ljlQo ;dfgLs/)f 

3 ejg tyf k"jf{wf/  10500000 cNof

4

s]Gb|Lo ljB't lj:tf/ tyf kf]n 

('jfgL 2400000 ;+#Lo ljlQo ;dfgLs/)f 

kf]n / tf/ vl/b tyf ('jfgL j*f 

g+= 4 ? 1000000.00

5 l;+rfO{ 800000 ;+#Lo ljlQo ;dfgLs/)f 

hDdf 63100000

;dk'/s s]fif 1500000 sG^]Gh]G;L 

s]GbLo ljB't kf]n ('jfgL              

j*f g+= 1 df ?= 3 nfv,                 

j*f g= 2 df ?= 3 nfv,              

j*f g+= 3 df ?= 3 nfv,                  

j*f g+= 4 df 2 nfv,                

j*f g+= 5 df 1 nfv 50 xfhf/             

j*f g+= 6 nfO{ 1 nfv 50 xhf/ . 



ljkb 2000000 ;+#Lo ljlQo ;dfgLs/)f 

c:yfoL k|x/L rf}sL kmlg{r/ 

Joj:yfkg rf}sL*f*f 100000 ;+#Lo /fhZj af*kmF*

:sfp^ Joj:yfkg 300000

3900000

;+# ;+:yf ;xof]u 300000 ;+#Lo ljlQo ;dfgLs/)f 

ljkGg ;xof]u sf]]if 400000 ;+#Lo ljlQo ;dfgLs/)f 

;fj{hlgs ;DktL dd{t ;Ddf/ 500000 ;+#Lo ljlQo ;dfgLs/)f 

hDdf 1200000

800000

qm=;+= sfo{qmdsf] gfd ah]^ e'QmfgLsf] ;|f]t 

1 cf}ifwL vl/b 300000

2 ('jfgL 50000

3 e]*L uf]& ;+/If)f 100000

4

ljp jf]sf ljt/)f -50 k|ltzt 

;femf]b/fLdf_ 100000

5 k|lzIf)f sfo{qmd 100000

6 /]ljh EoflS;g sfo{qmd 100000

7

k/lhjL lgjf/)f sfo{qmd j*f g+= 

5 / 6 50000

800000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk OsfO{ kl/df)f b/ ah]^

e'QmfgLsf] 

;|f]t

1 cf}ifwL vl/b tyf ;lh{sn pks/)f 2000000

2 sfo{qmd km/d]]^ %kfO{ ;+Vof 300000

3 ufp# lSnlgs ;`rfng vr{ ;+Vof 110000

4 cf}ifwL ('jfgL vr{ ;+Vof 130000

5

cfdf ;'/Iff tyf ue{jlt Pjd\ ;'Ts]/L 

k|f]T;fxg sfo{qmd 1 hgfnfO{ -1500_ 

sf b/n] 120000

6 cWoIf;+u hgtf :jf:Yo sfo{qmd 250000

7

:jf:Yo sfo{qmdx? cg'udg ;`rfgn 

vr{ 400000

8 :jf:Yo zfvf Joj:yfkg tyf kmlg{r/ 200000

9 kmf]xf]/ d}nf Joj:yfkg 150000

10 dlxnf :jd\ ;]ljsf j}&s ;`rfng 200000

11

dxlnf :jd\ ;]ljsfx?sf] nflu cf}ifwL 

nufotsf ;fdfu|L vl/b 150000

12 :jf:Yo rf}sLx?nfO{ OGwg 100000

13 u|fld)f lel*of] PS/] ;`rfng 100000

14 :jf:Yo rf}sL ;`rfng vr{ 100000

15 ;fd'bflos :jf:Yo OsfO{ ;`rfng vr{ 300000

16 ;`rf/ ;]jf 80000

17 :^fkm ldl^~ tyf ;ldIff j}&s vr{ 110000

4800000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf

e'QmfgLsf] 

;|f]t 

1

ah|l;+x ;fd'bflos :jf:Yo OsfO{ 

ejg tyf ;f}rfno lgdf{)f 900000 j*f g+= 2

;fNkfl;ln%f] ufpkflnsf 

ejg lgdf{)f -ef}lts k"af{wf/ zfvf_ 

;fNkfl;ln%f] ufpkflnsf 

:jf:Yo ;]jf zfvf

cf=a= 2076÷077 sf] of]hgfx?sf] af*kmf*

s'n ah]^ ?= 4800000.00

hDdf

;fNkfl;ln%f] ufpkflnsf 

kz'k+IfL ;]jf zfvf 
cfly{s aif{ 2076÷077 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

s'n hDdf



2 hgsNof)f cfdf ;s'x ejg lgdf{)f 400000 j*f g+= 3

3
l;+x b]jL cfdf ;d'x ejg lgdf{)f 

200000 j*f g+= 3

4

j*f sfof{no r]g u]^ tyf /]ln~ 

lgdf{)f 500000 j*f g+= 3

5 ls/ft d]jfxf~ rf]s lgdf{)f 1000000 j*f g+= 3

6  ?bf|If :tDe kfs{ lgdf{)f 2900000 j*f g+= 2

7 blnt ejg lgdf{)f 400000 j*f g+= 2

8 lzjzlQm elQm cf>d lgdf{)f 800000 j*f g+= 1

9 lzj dlGb/ lgdf{)f 500000 j*f g+= 6

10

ufp#/ lSnlgs ejg lgdf{)f 

cf];]Knf 500000 j*ff g+= 6

13 j*f sfof{no e'O{ ;f]ln~;f]ln~ 100000 j*f g+= 4

14

;f~\%f]ln~ u'Daf k|flj= ;f}rfno 

lgdf{)f 200000 j*f g+= 4

15

;]/fj];L emf]k' b]vL yfgL;Dd afO{s 

s'b\g] af^f] lgdf{)f 300000 j*f g+= 3

16

dflyNnf] lj~\df x'b} n~\jf vf]nf 

;Dd uf]/]^f] af^f] lgdf{)f 300000 j*f g+= 5

17 ufpkflnsf ejg ;f}rfno lgdf{)f 1500000 ufpkflnsf 

10500000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk ah]^ s}lkmot

1 df lj= tkm{ 715000

OGb|fjlt df=lj= ?= 260000

&f]^g]/L df= lj= ?= 195000

hfNkf b]jL df=lj= vf^fDdf ?= 

260000

2 Ol;*L tkm{ 780000

!fgf]bo k|f=lj= j*f g+= 1 ? 

97500.00

lbkHof]tL k|f=lj j*f g+= 2 ?= 

97500.00

;fpg] kGrsGof k|f=lj= j*f g== 

3 ? 97500.00

rfku'/f; k|f=lj= j*f g+= 4 ?= 

97500.00

kGrsGof k|f=lj= j*f g+= 5 ? 

97500.00

;'lDgfdf k|f=lj j*f g+= 4 ? 

97500.00

n]v'jf jfn ljsf; s]Gb| j*f g+= 

5 ? 97500.00

>]of jfn ljsf; s]Gb| ?= 

97500.00

3 cfwf/e"t ljBfno dd{t ;"wf/ 936000

nIdL ;fNkf cf=lj= 

?=156000.00

rGb|fjlt cf=lj= ?= 156000.00

hgldq cf=lj= ?= 156000.00

cfOtaf/] cf=lj= ? 156000.00

lxdfno cf=lj= ?= 156000.00

;fNkfl;ln%f] ufpkflnsf 

lzIff 

cf=a= 2076÷077 sf] of]hgfx?sf] af*kmf*

hDdf



;/:jlt cf=lj= ?= 156000.00

4 pTs[i^ ljBfno k|f]T;fxg 100000

5

z}lIfs k/fdz{ k'g{tfhsL tflnd tyf 

uf]i&L 261000

2792000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk ah]^ sfo{qmdsf] gfd 

1 dlxnf tkm{ 550000

cGt/fli^o dlxnf lbj;  ? 

150000.00

ckf~\u tyf lgDg cfo ePsf 

dlxnf l;k ljsf; sfo{qmd ? 

100000.00 

cNnf] wfuf] k|;f]wg sfo{qmd ? 

300000.00

2 afnaflnsf tkm{ 350000
afn ljjfx n}lus lxD;f #/]n' 

lxD;f nfu' kbfy{ b'Jo{zgL 

;DaGwL ;r]tgf tyf jfn Snj 

u&g / kl/rfng ? 

150000.00

cGt/fli^o afn lbj;  ? 

2000000

3 h]i& gfu/Ls 30000

4 blnt pTyfg sfo{qmd 200000

5 ckf~\u d}qL sfo{qmd 183000

1313000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf ah]^sf] ;|f]t 

1 %lAa;] df]^/af^f] :t/pGgtL 1800000 j*f g= 1

2 sfDn]^f/ ljhovs{ ^«\ofs cf]kg 500000 j*f g= 1

3 af^f] ;/;kmfO{ 1500000 j*f g= 1

4

af^f] ;/;kmfO{ tyf :t/pGgtL, 

lr;fkfgL lkof]s, tfdn'~ af^f] 

^ofs cf]kfg ;d]t 3800000 j*f g= 2

5 ;*s :t/pGgtL 5000000 j*f g+= 3

6 lndlvd df] af= lgdf{)f 800000 j*f g+= 4

7

dfrvs{ b]vL l*nvs{ dft]n df]= 

af= lgdf{)f 2000000 j*f g+= 4

8 df] af= ;/;kmfO{ 1300000 j*f g+= 4

9 km]]bL l;naf; df]=af= lgdf{)f 500000 j*f g+= 5

10

Ps/ft] ;'u'/] dft]n km]bL ;*s 

lgdf{)f 1500000 j*f g+= 5

11

af^f] ;/;kmfO{ tyf hf}af/L ;*s 

lgdf{)f 3200000 j*f g+= 5

12 df]=af= ;/;kmfO{ 2000000 j*f g+= 6

13 of~\df cf]v/af]̂ } ;*s lgdf{)f 1000000 j*f g+= 6

14 bf~\dfof cf;]]Knf df]=af= lgdf{)f 2500000 j*f g+= 6

15

y'Dn'~ vf]]nf b]vL cf{taf/] cf=lj= 

;Dd ;*s lgdf{)f 4000000 j*f g+= 6

31400000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk ah]^ &]ufgf e'QmfgLsf] ;|f]t 

1 ufpkflnsf vfg]]kfgL of]hgf 200000 j*f g+= 3

2 s'n'~ rf}sL*f*F vfg]kfgL of]hgf 1500000 j*f g+= 1

3

cfnkfgL vfg]kfgL of]hgf      -

hfNkfdf=lj=_ 300000 j*f g+= 3

4 rf}tf/] af#ynf vfg]kfgL of]hgf 300000 j*f g+= 1

vfg]kfgL tkm{

cf=a= 2076÷077 sf] of]hgfx?sf] af*kmf*

;fNkfl;ln%f] ufpkflnsf 

;*s lgdf{)f tkm{
cfly{s aif{ 2076÷077 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

;fNkfl;ln%f] ufpkflnsf 

;fNkfl;ln%f] ufpkflnsf 

nlIft sfo{qmd

cf=a= 2076÷077 sf] of]hgfx?sf] af*kmf*

hDdf

hDdf



5 lkof]s vf]g]kfgL of]hgf 100000 j*f g+= 2

2400000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk OsfO{ kl/df)f b/ ah]^

e"QmfgLsf] 

;|f]t 

1 lslj v]tL lj:tf/ bf]efg] 400000

2 ;t'jf ;+/If)f 100000

3

yf]kf l;+rfO{ tyf Knfli^s #/ ljt/)f 

50 k|ltzt ;femf]bf/Ldf  200000

Rofpsf] ljp ljt/)f 50 k|ltzt 

;fem]bf/Ldf 100000

4

kmnkm'n hftsf] lj?jf ljt/)f 50 

k|ltzt ;fem]bf/Ldf 100000

5 ('jfgL tyf sfo{qmd ;`rfng 100000

6 df}/L #f/ jgfpg] tflnd 100000

1100000

qm=;+= sfo{qmdsf] gfd ah]^ e'QmfgLsf] ;|f]t

18000000

j*f g 1 hDdf ah]^ 3000000

1

df#]d]nf v]ns'b sfo{qmd ;`rfng 

tyf cGo v]ns'b sfo{qmd 300000

2 d'*'n]rf}/ vfg]kfgL of]hgf 250000

3 d'*'n]rf}/ dlGb/ lgdf{)f 200000

4 ;fwLufp vfg]kfgL of]hgf 300000

5 a'DnL~ vfg]kfgL of]hgf 650000

6 s^]nufp vfg]kfgL of]hgf 300000

7 zflGt o"jf Snjejg lgdf{)f 500000

8 #'/lrdf uf]/]^f] af^f] lgdf{)f 200000

9 lzjzlQm elQm cf>d dd{t 200000

10

a'$ zflGt %f]ln~ u'Djf lgdf{)f 

j*f g+= 2 100000

3000000

j*f g+= 

2 hDdf ah]^ 3000000

1 lxdfnrf/L k|f=lj== vf=kf=of] 100000

2 adnsNof)f k|f=lj= vf=kf= of]hgf 125000

3

l;+xb]jL k|f=lj= lkof]s b]vL rfkfaf]̂ ] 

;'s]tfn vf=kf= of]= kfO{k vl/b 200000

4 dx+sfnL k|f=lj= kmlg{r/ Joj:yfkg 100000

5 &f]^g]]/L df=lj= vf=kf= of]= 100000

6 s~\\b\jf l;+rfO{ of]hgf 150000

7 ;xsf/L vfg]kfgL of]hgf 400000

8

ufp#/ lSnlgs tyf cfdf ;d'x 

ejg lgdf{)f ofFuL 400000

9

j*f sfof{no ;fj{hlgs ;f}rfno 

lgdf{)f 100000

10 dlxnf ljsf; ejg dd{t 300000

11 j*f sfo{no kmlg{r/ Joj:yfkg 150000

13 a'$ zflGt %f]ln~ u'Djf lgdf{)f 200000

14 (f*] l;+rfO{ s'nf] lgdf{)f 100000

15

;fpg]wf/f ;fd'bflos ejg ;f}rfno 

lgdf{)f 125000

17

s'n'~ ax'd'vL SofDk; kmlg{r/ 

Joj:yfkg 100000

18 v]ns'b ljsf; 250000

;+#Lo ljlQo ;dfgLs/)f

;fNkfl;ln%f] ufpkflnsf 

j*fut of]hgf 
cfly{s aif{ 2076÷077 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

;+#Lo ljlQo ;dfgLs/)fhDdf

;fNkfl;ln%f] ufpkflnsf 

s[lif ;]jf zfvf

cf=a= 2076÷077 sf] of]hgfx?sf] af*kmf*

hDdf

hDdf
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vdf/] ufp#/ lSnlgs kmlg{r/ 

Joj:yfkg 100000

3000000

j*f g+= 

3 hDdf ah]^ 3000000

1

:jf:Yo rf}sL em\ofn (f]sf tyf 

kmlg{r/ lgdf{)f 200000

2 cfof]l*g g'g ljt/)f 300000

3 tfduf]nf vfg]kfgL lgdf{)f 150000

4

vfg]kfgL d'n ;+?If)f     -gf}n] 

wf/f, vfNof~, sfnfkL_n 100000

5

c:yfO{ k|x/L rf}sL kmlg{r/ 

Joj:yfkg 100000

6 t/sf/L ljp vl/b 100000

7 l;+xb]vL cfdf ;d'x ejg lgdf{)f 200000

8 cfkm/ cn}rL l;+rfO{ of]hgf 100000

9 /fwfs[i)f dlGb/ lgdf{)f 450000

10 xs{^] ;fNkf ;+/If)f #]/faf/f  300000

11

l;h{gl;n :jf:Yo cfdf ;d'x ejg 

lgdf{)f 400000

12

gd'gf cfdf ;d'x ejg  dd{t 

;Ddf/  200000

13

cfOl;^L Joj:yfkg tyf l;ln~ 

lgdf{)f -hosnf k|f=lj=, hfNkf 

k|f=lj=, l;+xb]jL k|=lj, ;fpg]kGrsGof 

k|f=lj=_ 300000

14 :ofp v]tL lj:tf/ 100000

3000000

j*f g+= 

4 hDdf ah]^ 3000000

1 hfNkfb]vL df=lj= kmlg{r/ Joj:yfkg 200000

2 l;lnr'~ k|f=lj= kmlg{r/ Joj:yfkg 50000

3 l;+xb]jL k|f=lj= 1 sf]&] ejg lgdf{)f 200000

4 ;'lDgfdf k|f=lj= kmlg{r/ lgdf{)f 50000

5 k|hftGq k|f=lj= v]n d}bfg lgdf{)f 75000

6 hg lxt};L cfdf ;d'x ejg lgdf{)f 600000

7 ufp#/ lSnlgs ejg lgdf{)f d]Dkf~ 600000

8

;fd'bfos :jf:Yo OsfO{ vfg]kfgL 

Joj:yfkg 200000

9

:jf:Yo rf}sL vf^fDdf vfg]kfgL 

tyf kmlg{r/ Joj:yfkg 150000

10

;'lDgfdf cfdf ;d'x kmlg{r/ 

Joj:yfkg 50000

11 ;fs]r'~ k|f=lj= kmlg{r/ Joj:yfkg 25000

12 ljh]nf l;+rfO{ s'nf] lgdf{)f 50000

13 ;f~\%f]ln~ u'Djf lgdf{)f 100000

14 l/G%Lg u'Djf lgdf{)f 100000

15 ^fl;%f]nL u'Djf lgdf{)f 100000

16 ljB't kf]n ('jfgL 150000

17 ^fG;km/d{/ t]n vl/b 100000

18 v]ns'b ljsf; sfo{qmd 200000

3000000

j*f g+= 

5 hDdf ah]^ 3000000

1

;fd'bfls :jf:Yo OsfO{ km]bL 

Joj:yfkg 200000

2 dlxnf l;kljsf; sfo{qmd ;~rfng  300000

3 OGb|fjlt df=lj= %fgf lgdf{)f 400000

hDdf

;+#Lo ljlQo ;dfgLs/)f

;+#Lo ljlQo ;dfgLs/)fhDdf

;+#Lo ljlQo ;dfgLs/)fhDdf

;+#Lo ljlQo ;dfgLs/)f



4

nIdL ;fNKf cf=lj= #]/faf/f 

RofS;Lnf 350000

5 afkm'bf] vfg]kfgL of]hgf dft]n 350000

6

kGrsGof cf=lj= vf=gf= of]hgf 

tyf ;f}rfno lgdf{)f 250000

7 af]v'Daf vfg]]kfgL of]hgf 250000

8

rGb|fjlt l;naf; hf}jf/L af^f] 

lgdf{)f 200000

9

Sjfbf] e';+/If)f tyf enaf(L 

lgoGq)f 200000

10 t]Gbf] v]nd}bfg Joj:yfkg 350000

11 j*f v]ns'b ljsf; 150000

3000000

j*f g+= 

6 hDdf ah]^ 3000000

1

of~\df cf]v/af]̂ ] df]=af= ;j]{ tyf 

lgdf{)f 1500000

2 /ldt] u'Daf lgdf{)f 800000

3 ;f]n]jf ;v]jf yfg dd{t 400000

4 lt~vf~ ;v]jf yfg dd{t 300000

hDdf 3000000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf

e'QmfgLsf] 

;|f]t 

1 ufpklfnsf v]n d}}bfg lgdf{)f 2000000 j*f g+= 3

2

wf]ljvf]nf v]n d}bfg :^]h lgdf{)f 

lgdf)F 500000 j*f g+= 3

3 lna'^f/ v]n d}bfg lgdf{)f 800000 j*f g+= 4

4 lna'^f/ v]n d}bfg ;f}rfno lgdf{)f 300000 j*f g+= 4

5 cWoIf sk v]ns'b k|ltof]lutf 1500000

5100000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf

e'QmfgLsf] 

;|f]t 

1 l;;'jf l;+rfO{ 200000 j*f g+= 5

2 cf]*f/] j];L l;+rfO{ 200000 j*f g+= 4

3 k}o' (+uf ;fn]jf 200000 j*f g+= 6

4 ljho vs{ s'nf] 200000 j*f g+= 3

800000

;fNkfl;ln%f] ufpkflnsf 

l;+rfO{ tkm{ -k"jf{wf/ ljsf; zfvf_ 

hDdf ah]^

o"jf tyf v]ns'b tkm{ -;fdflhs ljsf; zfvf_ 
hDdf ah]^ 5100000

hDdf ah]^

;+#Lo ljlQo ;dfgLs/)fhDdf

;+#Lo ljlQo ;dfgLs/)f

;fNkfl;ln%f] ufpkflnsf 


